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-~ Question 15- The cost price of E is what
percent of cost price of D?
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Question 1- The Iltere?;[eﬁé)ulatlon in city M is

@Mw#@m how much percentage re than the male
population in city N?
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_ Utm= 357 ‘5’ 1440 Questiqn _3— Find the Illiterate
population in N and M together.
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Question 4- If the difference between the interest received by

Suresh and m Rs 8400 and Suresh invested his money for
A.10200 double the td for which Sumit invested his mone
B.19200 find the amount received by Suresh ?
C.13400 T 4- T LA 3T AT ZTL ITH AT 6 1= 7 ia< 8400
D 16500 AT LI T AT TH hT FIAT G 97 67 T2 AT 6 TR THT 6
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\ ~, - If the interest received by Yash is 20% of the

O%«&h ied by her then find how much more money as
%lzn tshe would have earned if she had invested the

A“Compound interest?
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Hd- B and

Q sti 6- Metal A is 19 times as heavy as lig
al

mei IS 94Imes as heavy as liquid B. In wk Aould
thefe Tetal‘? be mixt xture may be 15 times
as heayy as B? 9a-tim
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Questich 7- 47, 56,61)130, 194, 332, 501
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Question 8- @52 201, 270, 341,
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Question - 4. 6, 163, 90, 174
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Question 10- 5,4.5, 3@ -2.5, -
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Question 11- 1, 3, 15, 51, 131, 2381,
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@@3 : Question 12- Two-third of a consignment was

sold at a profit of 10% and the remaining at a
loss of 4%. If the total profit was Rs. 800, find

< X014 l)((~@/ the value of the consignment.
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Question 13- A person sells an article at 40% profit. Ha
he bought it at 10% less and sells at Rs 640 less then he
will gain 20%. Find the cost price of article.
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